Algebra CC Name
Graded Review #1
Cotto e e Date
Early grading on Wednesday. All papers due on Friday SCORE: /20
LATE PAPERS WILL NOT BE ACCEPTED!! -
‘ FINAL SCORE: /20

Multiple Choice — 2 points per question (Show all work for full credit)

1. A ear uses one gallon of gasoline for every 20 miles it travels. If a
gallon of gasoline costs $3.98, how much will the gas cost, to the
neavest dollar, to travel 180 miles?

(o (3) 45
(2) 36 {4) 80

2. The equation 3{(4x) = {4x)3 illustrates which property?

{1} commutative {3) distributive
{2) associative {4) multiplicative inverse

3. IfA=3x2+5x-6andB==—*ﬂxz—(ix:-l-'i’,theﬂ&—l?eqﬂals
(1) —5x2 — 1lx + 13 3 —-2—-x+1
(2) 5% + 11x — 13 (4) x2 —x +1

4.  The somof 8n2 — 3n + 10 and ~3n2 — 6r — Tis
{1} 5n2 — On + 3 {3) ~11n® —9n — 17
{2} 5n% — 3n — 17 {4) ~11n®—~3n +3

5. The equation (3 +x) +y =3 + (x +y) illustrates which property?

A) commutative B) distributive C) associative D) identity



Short Answer — 10 points. Show all work and indicate final answers for full credit.
Solve the following equation and state the property used at each step:

6. 2(x-1)+4=8 Property Bank (Use each only once)
Additive Property of Equality
Distributive Property
Combine Like Terms
Multiplicative Property of Equality

7. On the set of axes below, draw the graph of the equation y = — f;'x +3.

Is the point (3,2) a solution to the equation? Explain your answer based on the graph drawn.



Algebra 1 Name

Graded Review #2

Date

Early grading on Wednesday. All papers due on Friday SCORE
LATE PAPERS WILL NOT BE ACCEPTED!!

FINAL SCORE:
Multiple Choice — 2 points per question (Show all work for full credit)

1. Which verbal expression is represented by 2{(x + 4)?
{1} twice the s of a number and four
{2) the sum of two times a number and four
(3} two times the difference of 2 number and four
{4) twice the product of a number and four

2. Which expression represents “d less than twice 1”9
(1) 2x-5 (3) 2(5 ~x)
(2) 5-2% (4) 2(x -5)

3. What is the product of (3¢ + 2) and {x — 7)?
1) 3« — 14 {3} 3% — 19z — 14
(2) B2 —5c— M4 (4) B2 — 2% — 14

4:3)2
2x

(1) 4at (3) 8t
(2) 4a® (4) 8&°

4.  The expression is equivalent to

: /20

120

i 5. The equation (x +2) (3x — 1) = 3x (x+2) — (x +2) illustrates which property of equality?

(1) commutative (2) distributive (3) associative

(4) identity



Short Answer — 10 points. Show all work and indicate final answers for full credit.

6. If A=11x—-7 and B = -4x + 3, determine the following in simplest form:

a) A+B=

b)B+A=

c.) A-B=

d B-A=

e.) AB=

7. Rewrite the following expression as a binomial:

3x(x—4) —2x(x + 3)



Algebra 1
Graded Review #3

Early grading on Wednesday. All papers due on Friday

LATE PAPERS WILL NOT BE ACCEPTED!!

Name

Date

SCORE: /20

FINAL SCORE: 120

Multiple Choice — 2 points per question (Show all work for full credit)

1.

Which equation is an example of the use of the associative property

of addition?
(Dx+T7T=T7+x

(2) 3(x +y) =3 + 3y

8) x+g)+3=x+(y+3)
W3+a+y)=@+y)+3

Which graph shows a line where each value of y is three more than 3,

half of x?
y y
X
i
1 3)
y y
L
. . x - \
(
2) )

A cell phone can receive 120 messages per minute. At this rate, how
many messages can the phone receive in 150 seconds?

(1) 48 (3) 300

(2) 75 (4) 18,000

Dan took 125 seconds to run the 100-meter dash, He calculated
the time to be approximately

(1) 0,2083 minute {(3) 0,2083 hour
(2) 750 minutes (4) 0.52083 hour

What is the value of x in the equation 2{x — 4} = 4(2¢ + 1)?

(1) —2
(2) 2

@) -3
@ 3



Short Answer — 10 points. Show all work and indicate final answers for full credit.

N

6. A turtle and a rabbit are in a race to see who is first to reach a point 100 feet away. The turtle
travels at a constant speed of 20 feet per minute for the entire 100 feet. The rabbit travels at a
constant speed of 40 feet per minute for the first 50 feet, stops for 3 minutes, and then
continues at a constant speed of 40 feet per minute for the last 50 feet.

Determine which animal won the race and by how much time. )

7. Simply the following expressions:

"a)IfA= 11x + 2and B = —5x + 6,then 4 — B =

b)4(2x — 1) +7(3 —x) =

c) 5(x2—8x+4) =

d) fA=3x+2andB=3x—1,thenA B =




Algebra 1 Name

Graded Review #4
| —~ Castor/Palmer/Pastore Date
Early grading on Wednesday. All papers due on Friday SCORE: /20

LATE PAPERS WILL NOT BE ACCEPTED!!

FINAL SCORE: 120

Multiple Choice — 2 points per question (Show all work for full credit)

1.

Fred is given a rectangular piece of paper. If the length of Fred's
plece of paper is represented by 2 — 6 and the width is represented
by 3x ~ 5, then the paper has a total area represented by

(1) 5 - 11 (3) 10x ~ 22
(2) 6x® — 28« + 30 (4) 622 — 6 — 11

If x represents John’s age and his daughter is four years more than one half of his age, then which
expression represents his daughter’s age in terms of the variable x?

(1) 4+5x (3) ;(x+4)
(2) 2x+4 (4) (4 +2)

x—2 | s
A+ e
3 6 6

What is the value of x in the equation
(1) 4 (3) 8
(2) 6 4 1

TFA = 32 4 B~ Gand B = —X2 — 6x + 7, then A ~ B equals
(1) —%2—11x + 13 (3 —B2—-x+1
(@) 5+ 1x — 13 (4) 52 —x + 1

The expression x(2x — 3) — 4(2x — 3) is equivalent to each of the following except which choice?

1) (x—4)(2x - 3) (3)10x + 9
@) (2x - 3)(x — 4) (4) 2x% — 11x + 12



Short Answer — 10 points. Show all work and indicate final answers for full credit.

6. a. If Jack’s age is two years less than twice Tiana’s age, t, then what would the sum of
their ages be as a binomial expression?

b. If Tiana is seventeen years old then how old is Jack?

7.  Wie an equation that defines m{x) as a trinomial where m(x) = (3¢ — (3 — ) + &2+ 19,



Algebra 1

LATE PAPERS WILL NOT BE ACCEPTED!!

Multiple Choice — 2 points per question (Show all work for full credit)

1.

Sam and Jersmy have ages that are consecutive odd integers.
The product of their ages is 783, Which equation could be used to
find Jeremy'’s age, §, if he is the younger man?

(1) #+2="783 @B Erys= 783

() 2 —2="783 . W pP-y=T83

Which value ofs s in the soltion set oFthe tneguility 2 B) < 4P
me ims
@2z : {4) 8

The value of y in the equation 0.06y + 200 = 0.03y + 350 s

{1) 500 . (3) 5,000
{2} 1,666.6 : ~ {4) 18,3333
Jasow's part-time job pays him §155 a wask. If he has alveady saved

$375, what s the mintmum number of weeks he needs to work In
order to have encugh money to buy a dist hike for §9007

(1) & : {8 3

(2} 9 | {4) 4

What is the value of the expression ~3x%y + 4x whenx = -4 and
y=2°

1) ~112 B R
& ~80 (4y 272

Name
A Graded Review #5
—~—Pastore Date
Early grading on Wednesday. All papers due on Friday SCORE:____/ 20

FINAL SCORE: /20



-

Short Answer — 10 points. Show all work and indicate final answers for full credit.

6. Find the solution(s) to a and b below.
® a.) 4x — 30 = —3x + 12 b.) 4x-30>-3x+12
¢.) EXPLAIN the difference between the two (consider graphing solutions on a number line for each)
7. Solve the following equation and state the properties used to complete each step:

3x+1)-1 =26 Property

o

R



Algebra 1 Name
Graded Review #6
a0 Date
Early grading on Wednesday. All papers due on Friday SCORE: /20

LATE PAPERS WILL NOT BE ACCEPTED!!

FINAL SCORE: /20

Multiple Choice — 2 points per question (Show all work for full credit)

1. What is the value of x in the equation 2(x — 4) = 4(2x + 1)?

(1) -2 @ -
@z @ 3
2. Det r-m‘ine which compound inequality is true.
1)5>2and 4 < 1 | (2)—2>0§r—6z6
B)5<5and—-6=>-5 @-2=2—-4and3>0

3. Whatis the solation of 3(2m ~ 1)< 4m + 7¢ 4. The graph of y = f{x) is shown below.

(1) m=35 (3 m=4 y
{2) m=5 4) m=4

B

o A
s - X
- D
S.  Solve fora: %(2412)“;,-*4 )

(18, . @)

@1 (4)°23 |
' ' ' Which point could be used to find f(2)?
(1) A 3) C
(2) B 4) D



Short Answer — 10 points per question (Show all work and circle final answer for full credit).

o—

*/. Translate the following phrase into an inequality and then find the solution set by solving the inequality.

When 5 times a number, n, is decreased by 4 it’s at most 21

7. 1fthe difference (312 — 2x + 5) — (2 + 3x — ) is multiplied by %xﬁ,{ what is the result,
written in standard form?




Algebra Name
Graded Review #7
N Date
Early grading on Wednesday. All papes due on Friday SCORE: 120

LATE PAPERS WILL NOT BE ACCEPTED!!

FINAL SCORE: /20

Multiple Choice — 2 points per question (Show all work for full credit)

1.  Letfbe a function such that f{x) = 2x — 4 is defined on the domain
2 < x = 6. The range of this function is
(1) 0=sy<8 (3) 2<y=<6
2) 0=y<ow 4) ~w<y<ow

2 A company produces x units of a product per month, where C(x)
*  represents the total cost and R{x) represents the total revenue for the
month. The functions are modeled by Clx) = 300x + 250 and
R(x) = —0.5x + 800x — 100. The profit is the difference between
revenue and cost where P(x) = R(x) — C{x). What is the total profit,
Plx), for the month?
1) P(x) = —0.5:% + 500x — 150
2) Plx) = —0.5:2 + 500x — 350
3) Pla) = —05:2 — 500x + 850
{(4) Plx) = —0.5x% + 500x + 350

3. The Jamison family kept a log of the distance they traveled during a
trip, as represented by the graph helow.

Distance Traveled (miles)

Elapsed Time (hours)

During which interval was their average speed the greatest?

4. (1) the first hour to the second hour
The expression 3(1!:2 -1} - (:1‘2 — Tx + 10} is equivalent to (2) the second hour to the fourth hour
. (3) the sixth hour to the eighth hour
() 22— Tx+7 (3) 22— T +9 s

{4) the eighth hour to the tenth hour
@ 22+ 7x - 13 @ 2T —-11

5.
A store sells self-serve frozen yogurt sundaes. The function Clw)
represents the cost, in dollars, of a sundae weighing w ounces.
An appropriate domain for the function would be
(1) integers
\ (2) rational numbers
./ {3) nonnegative integers

(4) nonnegative rational numbers



Short Answer — 5 points per question (Show all work and circle final answer for full credit).

6. Given the following graphic relations determine if they represent a function and if so state the domain and range.

<7 \\

e

Function?

Domain:

Range:

/

7. Graph the following piecewise function:

x4+ 1, x<~1
f(x)={ 3x, x =2 —1

Function?

Domain:

Range:

an

an




N

Algebra 1
 Graded Review #8

Early grading on Wednesday. All papers due on Friday

LATE PAPERS WILL NOT BE ACCEPTED!!

" Multiple Choice — 2 points per question (Show all work for full credit)

1. What is the equation of the graphed line?

(1)2y = —4x + 6

)y =3x+2

2. Let f be defined as the function 7(x) = {

(1)-15
) (2)0
" (3)-25
(4)20

3. 1f 3ax + b = ¢, then x equals
(1} e~b+3a
(2 c+b—-3a

(3)2y=4x+6

#y=3x+3

mr%%

(4}

10 - x

b—c
3

-2x+5 ifx<5
ifx=5

y

Name

Date

SCORE

4. Nicole's nerobics class exercises to fast-paced music. If the rate of the
music is 120 beats per minute, how many beats would there be in 2

. Evaluate f{10).

class that is 0.75 hour long?
{1) 90 {3) 5,400
(2) 160 4) 7200

The tables below show the values of four different functions for

5, given values of x.
x | f{x) X | gix) x | hix) x | kix)
1 | 12 1| - 119 1 | -2
2 19 | 2 1 2 12 2 4
3 | 2% 3 5 3 |17 3 | 14
| 4 | 33 4 | 13 4 |24 | | 4 | 28

Which table represents a linear function?
(3) hix)
(4) klx)

(1) fix)
(2) glx)

FINAL SCORE:

: /20

120



Short Answer — 5 points per question (Show all work and circle final answer for full credit).

6. The graph of a piecewise function f is shown to the right. The domain of fis -3 < x < 3.

\ a. Create an algebraic representation for f by filling in the appropriate blanks. Assume that the graph of f is
composed of straight line segments. .y
. fix) ,

flx) = '

e
Function Bank Domain Bank + P
-x+ 3 -1 <x<0
-1 0<x<2 |l
x—1 3<x<-]
b 2<x<3
7. A gardener is planting two types of trees:

Type A is three feet tall and grows at a rate of 15 inches per year.
Type B is four feet tall and grows at a rate of 10 inches per year.

Algebraically determine exactly how many years it will take for these trees to be the same height.



Algebra Name
Graded Review #9
"~ Tastor/Palmer/Pastore Date
Early grading on Wednesday. All papers due on Friday SCORE: /20

LATE PAPERS WILL NOT BE ACCEPTED!!

FINAL SCORE: /20

Multiple Choice — 2 points per question (Show all work for full credit)

I A=32+5:—6and B = ~22% - 6x + 7, then A — B equals

(1) —5 — Llx + 13 (3) 52 —x+1
(2) 5x% + 1lx — 13 (4) B2 —x +1
2. What is the slope of the line whose equation is 3 ‘ Ty = 07
1= 3) -1
@ 3 4 ¢
3' mazil%e slope of the line that passes through the yatots (-81) 4. ‘What is the slope of the line passing through the points A and B,
4 ‘ ' ' as showne on the graph belowp
(1) -2 @ -3
_ X | . |
@2 wy X
oy
-~
i B
B
- X
) -3 (3 3
2) -3 @ 3

S. Which value of x is in the solution set of the inequality ~2(x - 5) < 47
(1) 0 o @33
@ )5



Short Answer — 5 points per question (Show all work and circle final answer for full credit).

6. On the set of axes below, graph the piecewise function:
/’/f\

Bx'%‘i{, xx—]
2“;:;2, x>l

fw) =

7. a) Solve for x algebraically:  5x — 2(5x —12) > 5x + 12 — 8x

b) List the three largest integer Valués for x.




Algebra Name
Graded Review #10
" “Tastor/Palmer/Pastore Date
Early grading on Wednesday. All paier Jue on Friday : SCORE: /20
LATE PAPERS WILL NOT BE ACCEPTED!!
FINAL SCORE: /20

Multiple Choice — 2 points per question (Show all work for full credit)

L Yack bought 3 slices of cheese pizza and 4 slices of mushroom pizza
for a total cost of $12.50. Grace bought 3 slices of cheese pizza and
2 slices of mushroom pizza for a total cost of $8.50, What is the cogt
of one slice of mushmom pizzaP

(1) 8150 - (3) $3.00
(2} $2.00 : (4) $3.50

2. Whatis the solution of 3(2m — 1) = 4m + 77
(1) m=35 (3) m=4
(2) m=85 (4) m=4

3 Wrx—st= r, which expression represents x?

. r st
(1} 'L;—"

(@

8
f-i'sf @ r

4. What is the product of (3 + 2) and (x — 7)?
(1) 32—~ 14 (3) 32— 1 — 14
(2) 3 —B5x — 14 {4) 32— 2% — 14

5. The third term in an arithmetic sequence is 10 and the fifth term is 26.
If the first term is @}, which is an equation for the nth term of thls
sequence?

\ (1) a,=8n+ 10 (3) a,=16n + 10
(2) a,=8n~ 14 {4) a, = 16n - 38



Short Answer — 5 points per question (Show all work and circle final answer for full credit).

6. The sum of two numbers, x sod y, is more than 8. When you double © and add it to i, the sum is
o~ loss than 14,

Grapls the inequalities that represent this scenario on the set of axes below,

y
K,

7. Two functions f(x) and g(x) are given below. Determine which of these functions has the
greater average rate of change over the interval 3 < x < 7. Support your final answer.

fx) =x*+2x +3 x 12 13 14 5 T6 17 |8
G(x) |21 |32 |43 |54 |65 |76 |87




Algebra 1 Name
Graded Review #11
" “astor/Palmer/Pastore Date

Early grading on Wednesday. All papers due on Friday
LATE PAPERS WILL NOT BE ACCEPTED!!

SCORE: /120

FINAL SCORE: 120

Multiple Choice — 2 points per question (Show all work for full credit)

1. A hiker walked 12.8 miles from 9:00 a.m. to noon. He walked an
additional 17.2 miles from 1:00 p.m. to 6:00 p.m. What is his average

rate for the entire walk, in miles per hour?
(1) 3.75 (3) 427
(2) 3.86 (4) 7.71

2. Michael is 25 years younger than his father. The sum of their ages is

53. What is Michael’s age?
(1) 14
(2) 25

(3) 28
(4) 39

)
3. When Bx + 4y is subtracted from B¢ — 4y, the diffevence is

(1) 0
(2) 10x

(3) 8y
(4) —8y

4. The diagrams below represent the first three terms of a sequence.

Term 2

Assuming the pattern continues, which formula determines «,,,
the number of shaded squares in the nth term?

o, =4n+ 12
a,=4n+38

o

A system of equations is graphed on the set of axes below.

y
L1 |

The solution of this system is

(1) (0.4)
@ 249

(@) 42)
(4) (80)



Short Answer — 5 points per question (Show all work and circle final answer for full credit).

The formuda for the sw of the degree messures of the fntovior angles of a polygon iy
§ = 180(n —~ 2}, Sobve for m, the namber of sides of the polygon, in terms of 8.

Edith babysits for x hours a week after school at a job that pays $4 an hour. She has accepted a

. job that pays $8 an hour as a library assistant working y hours a week. She will work both jobs.

*  She is able to work no more than 15 hours a week, due to school commitments. Edith wants to
earn at least $80 a week, working a combination of both jobs.

Write a system of inequalities that can be used to represent the situation.

Craph these inequalities on the set of axes below.

b
»

20

10

Determine and state one combination of hours that will allow Edith to earn at least $80 per week
while working ne more than 15 hours.



Algebra 1 Name
Graded Review #12 :
" Vastor/Palmer/Pastore Date
Early grading on Wednesday. All papers due on Friday SCORE: /20

LATE PAPERS WILL NOT BE ACCEPTED!!

FINAL SCORE: /20

Multiple Choice — 2 points per question (Show all work for full credit)

1.

The formula for the volume of a pyramid is V = —:} Bh. Whatis b
expressed in terms of B and V?

(1) h=3VB @ r=3
@) h=qs (4) h = 3VB

A Iaboratory teclmician studied the population growth of a colony of
bacteria. He recorded the number of bacteria every other day, as

“ shown in the partial table below.

t (time, indays) | O 2 4
1(t) (bacteria) - 25 | 15,626 | 9,765,625

Which function would accurately model the technician’s data?

(1) fir) = 25° (3) flt) = 25t
(@) fir) = 25t 1 4) fo) =925+ 1)

The total score in a foothall game was 72 points. The winning team
scored 12 points more than the losing team. How many points did
the winning team score?

(1) 30 (3) 54

(2) 42 (4) 60

Alicia has invented a new app for smart phones that two companies 5% Which inequality is represented in the graph below?
are interested in purchasing for a 2-year contract.

y
Company A is offering her $10,000 for the first month and will
increase the amount each month by $5000. /" /; Ve j/' "/
- oo : . ra'ye
Company B is offering $500 for the first month and will double their a V//, A /]
payment each month from the previous month. ; ‘6/ 1/;/{1/ j
Monthly payments are made at the end of each month. For which B /:/ 7 j»f /1
monthly payment will company B’s payment first exceed company A’s ' ,/jf" Aox
payment? 45-4-pp ) ?/,;ri/(/’f'
M 6 ® 8 AERZ7Z
2 7 4) 9 : f / /;
4 he
5 A/
']
(1) y= ~3c + 4 3) yz=—dx—3

(2) y= —Sx +4 (4) y=—4xr — 3



Short Answer — 5 points per question (Show all work and circle final answer for full‘ credit).

8 Duringa rieent suowstorm in Red Hook, NY, Jaime noted that there were 4 loches of snow on
the ground at 300 pan., and there were 6 inches of snow on the grousd at 700 p.m,

IF she were to graph these data, what does the slope of the Tine connecting these two points
raprosent in the eontext of this problem?

7. The number of carbon atoms in a fossil is given by the function y = 5100(0.95), where
~ x represents the number of years since being discovered.
What is the percent of change each year? Explain how you arrived at your answer.




Algebra 1 Name
Graded Review #13
; ’AﬁlastorfPalmer/Pastore Date
Early grading on Wednesday. All papers due on Friday SCORE: /20

LATE PAPERS WILL NOT BE ACCEPTED!!

FINAL SCORE: /20

Multiple Choice — 2 points per question (Show all work for full credit)

L What is the product of (3x + 2) and (:t;.‘ - TP

(1) 32— 14 (3) %~ 19x — 14
(2) 32— Bx — 14 (4) 32 —-23%c ~ 14
Using the substitution method, Ken solves the fnlléwing system of  Which equivalent equation could Ken use?
equations algebraically. (1) 3c+ 22— 5) = -3
-y=5 (2) B¢ + 25 — %) = 3

e+ 2y= -
x - 2y 3 3) 3(y+g_)+2yz»3

2.
) 3(% - y) + 2y =3
3. If flx} = 'é*x + 9, which statement is always true?
(1) flx) <0 (3) Hx <0, then flx) < 0.
(2) flx) >0 (4) Ifx > 0, then fix) > 0.

: - . . 1
4. Which ordered pair is not in the solution set of y >— 5% +57

(1) ,3) 3) G,4)
2 4.3) (4) (4, 4)

S. The Celluloid Cinema sald 150 tickets to a movie, Some of thege were
child tickets and the rest were adult tickets, A child ticket cost $7.75
and an adult tocket cost $10.25, If the cinema sold $1470 worth

‘\ of tickets, which system of equutions could be used to determine
how many adult tHickets, ¢, and bow many child tickets, ¢, were sold?

{1) a4 e=150 {3 a+e=150

10,254 + 7.75¢ = 1470 775 + 10.25¢ = 1470
(2) a4+ ¢ = 1470 {4) ¢+ ¢ = 1470

10.35g + 7.75¢ = 150 7. 7% + 10.25¢ = 150

a1 i A [ . i 1* fdakl " h 1 . 1 ~ 1 ~ ~ o111 1N



6. On the set of axes below, solve the following system of inequalities graphically.

y+ 3<%
J —2y = 6x ~ 10

State the coordinates of a point in the solution set.

A
¥
"

7.  The diagrams below represent the first three terms of a sequence.

Term 1 Term 2 Term 3

Assuming the pattern continues, write a formula which determines, a», the number of shaded squares in the
nth term?

)

¥




Algebra 1 Name

Graded Review #14
~ Tastor/Palmer/Pastore

Date |

Early grading on Wednesday. All papers due on Friday SCORE
LATE PAPERS WILL NOT BE ACCEPTED!!

FINAL SCORE:__

Multiple Choice — 2 points per question (Show all work for full credit)

1. What is the product of 3x2y3z and 4y°x°2?

(1) 7xtty8z2 (3) 12x18y15z
(2) 7x8ySgz (4) 12x11y8z2
9,3
2. The expression 120y is equivalent to
(1) —4dwb / (3) _Qwﬁ
(2) —dwy (4) 9w’y
2 The expression 3{x® — 1} = (x® = Tx + 10} is equivalent to
(1) 2* = Tx + 7 (3) 22— Te+ 9
() 22 + Tx — 13 (4) 242 + Tx = 11

The range of the function f{fg} = 42 4 O = 8 ix all real numbers
(1) less than or equal to —8

(2) groater than or equal to —8

(3) less than or equalto —1

{4) greater than or egual to —1

5. The zeros of the function fix) = x® = 5¢ — 6 are
\ (1) =1and & (30 2 s =3
- {2} 1and -8 (4) —2and3

: /20

/20



Short Answer — Spoints per question (Show all work and circle final answer for full credit).

: *()\, Craph the following function on the set of axes below.

/

vk -3=sx<d
=1, 1 <rss

#(x)
)

A
k 4
=

” Sue and Kathy were doing their algebra homework. They were asked to write the equation of
the line that passes through the points (~3.4) and (6,1). Suewrote y — 4 = — -élf {x + 3) and Kathy

Wrobe § = -*:lgsx + B, Justify why both students are correst.



Algebra 1

Name
Graded Review #15
" astor/Palmer/Pastore Date
Early grading on Wednesday. All papers due on Friday SCORE: /20
LATE PAPERS WILL NOT BE ACCEPTED!! :
' FINAL SCORE: /20
Multiple Choice — 2 points per question (Show all work for full credit)
L. hat is the formuda for the nth term of the sequence 84, 18,8, .. 9
@ a,= ﬁ(%:—- 1 &) o, ~H (%yx 1
2. What is the common difference of the artthmetic sequence 3, Firing a picce of pottery in a kiln takes place at different
5 811,147 temperatures for different amounts of time. The graph below shows
' : the temperatures in a kiln while firing a piece of pottery after the
{1} -g {3 4 kiln is preheated to 200°F.
2 -3 @9 l ;
| 8.1800)
) o / ;(5,1 640)
ry )({25 300)
£ 1200
4. ppe= + L thenx equals 2 ! |
g 800 (‘s 5, 900)
1y Bt - £ £
1) =5 (3) 2rs — ¢ ; v (1,700)
@) 24 (4) rs - 2t |
0 2 4 6 8 10

Time (hours)

During which time interval did the temperature in the kiln show the
greatest average rate of change?

(1} 0to 1 hour {3) 2.5 hours to B hours
(2) 1 hourto 1.5 hours {4} B hours to 8 hours

5. Marcy determined that her father’s age is four less than three times

her age. If x represents Marey's age, which expression represents her
father’s age?

~')(i} 3x—4 (8) 4x — 3
(2) 3{x — 4) (4) 4 — 3«



Short Answer — Spoints per question (Show all work and circle final answer for full credit).

Assunse thata bacterta populatton doub ‘hour, Which of three tables af dats, with x tepresenting
—Hime fn iours and y the count of bacteris, could reprasent the bocterio poputstion with respect to tine? For the chasen
';Ie of 3ata, plot the graph of that data. 1abel theakes appsopriately with units,

/

galog 2858,
A FRTET R THRTO

af

——
RO

TR

e

B

b) - Write a function which models the bacteria population, B(#), with respect to time #. (Hint: You
may need o use the regression capability of the graphing calculator) .




Algebra 1 Name
~ Graded Review #16
- f-\stor/Palmer/Pastor ‘Date
Early grading on Wednesday. All papers due on Friday _ SCORE: 120
LATE PAPERS WILL NOT BE ACCEPTED”
FINAL SCORE:; /20

Multiple Choice — 2 points per question (Show all work for full credit)

1 Factored completely, the expression 3x* — 33 + 80 is equivalent to
(1) 3xlx® — 33x + 90) (3) 3xlx + B)(x + 6)
(2) 32 — 11x + 30)  (4) Bxlx — B)x — 6)

2. If the roots of a quadratic equation are —2 and 3, the equation can
be written as

1) ct—2x+3)=0 3) &+ 2x+3)=

0
2 +2)x—-3)=0 4) x—2)x—3)=0

 What are the domain aml the range of the fmetion shown in the

graph below?
¥y
A .
4. rhe current population of a town s 10,000, ¥ the population, P,
nereases by 20% each year, which equaﬁon could he used to find the
.-«W““ IOV B o T mpzﬁaﬁon after ¢ years?
{,ﬁﬂ""” ' 1) P = 10,000(0.2)¢ (3) P = 10,000(12)
i ' 2y P = 10,000(0.8¢ {4) P = 10,000{1.8}
=* : 2
v

) le>-dhiyly>2 @ kle>lgly> -4
@ klez=—diyly=2 @ kle=Byly=-4

5. What is the slope of the line represented by the éqﬁat_ion
| 4+ 3y =129
’ 4 3
1) < 16

(2 & @ -4



Short Answer — 5points per question (Show all work and circle final answer for full credit).

6. Express the @mﬂlueif: of 2x2 + Tx — 10 and x + 5 in standard form.

DA T,
L 3

7. On the axes below graph the solution set to the following inequality:

g—duzg

By bl

q
—

State a point in the solution set.




Algebra 1 Name
Graded Review #17
~~<astor/Palmer/Pastore ; Date
Barly grading on Wednesday. All papers due on Friday SCORE: 120
LATE PAPERS WILL NOT BE ACCEPTED!! ‘
FINAL SCORE: /20
Multiple Choice — 2 points per question (Show all work for full credit)
1. Which of the ordered pairs is not a function? ‘
(1) {(0,9),09,0),(1,2),3,4)} 3) {(2,3),(3,4),(4,5),(5,6)}
) {(0,1),(-1,0),(1,2),(3,2)} @ {2,3), (2,9, (4,5), (4, 6)}
2. What is the vertex of the parabola represented by the equation
y = —9x2 + 24x — 1007
(1) x=—6 (3) (6,—28)
2)x=86 (4) (—6,—316)

4.  Aballis thrown into the air from the edge of a 48-foot-high cliff so
that it eventually lands on the ground. The graph below shows the
height, y, of the ball from the ground after x seconds.

y

1921

178
3. What is the product of (x +1) and (2x* +3x —1)? 160

144
(1) 2x* + 5x% —x—1 (3) 25+ 3%+ 3x+ 1 128 A 3

112
Q) 26+ 5 +2x -1 (4) 2x% + 3x? = 3x— 1 % 17 \

80 }—-A \

64 /

48 :

32 \

\ N
18
X

1 2 3 4 5 8
For which interval is the ball'’s height always decreasing?
(1) 0=<x=25 (3) 25 <x<hs
(2) 0<x <85 4) x=2
/‘5' If 4% — 100 = 0, the roots of the equation are
(1) —25and 25 (3) —5and 5
(2) —25, only (4) —5, only



Short Answer — 5 points per question (Show all work and circle final answer for full credit).

6. a. Graph the following system of inequalities: y < %x +4
™ 4x + 2y >3

/

b. Name a point in the solution set of the system of inequalities:

7. A school is building a rectangular soccer field that has an area of 6000 square yards: The soccer
field must be 40 yards longer than its width. Determine algebraically the dimensions of the
soccer field, in yards.



Algebra 1 Name
Graded Review #18
~—<astor/Palmer/Pastore 3,§.* Date
Barly grading on Wednesday. All papers due on Friday SCORE: /20

LATE PAPERS WILL NOT BE ACCEPTED!!

FINAL SCORE: /120

Multiple Choice ~ 2 points per question (Show all work for full credit)

1.

Joey’s math class is studying the basic quadratic functions, f(x) = x°. Each students is supposed to
make two new functions by adding or subtracting a constant to the function. Joey chooses the
functions g(x) = x* — 5 and h(x) = x> + 2. What transformation would map f{x) to g(x) and f(x) to
h(x)?

(1) shift left 5, shift right 2 (3) shift up 5, shift down 2

(2) shift right 5, shift left 2 (4) {shift down 5, shift up 2

Mrs. Jones is describing a function to her students. She says the output is equal to seven less than
twice the input. Which of the following equations models this relationship?’

W fx)=7-2x (2 f¥) =2x~-7 G)f)=2(7-%) &) fix) =2(x~7)

Find the average rate of change between f{(-4) and f{-1) in the function f{x) = X+ 2x - 8.

1) -9 Q) -3 3)3 ) 9
The expression x* — 16 is equivlent to
(1) {® + 8){x® — 8) {3) G2+ 4K~ 4)
(2) (- 8)* - 8) 4) G — 4)x® — 4}
An expression of the fifth degree is written with a leading coetficient

of seven and a constant of six. Which expression is corvectly written
for these conditions?

(1) 65 + o + 7 (3 6" =25+ 5

(2) T =6t + 5 ) B B



Short Answer — Spoints per question (Show all work and circle final answer for full credit).

. Atan office supply store, if a customer purchases fewer than 10 pencils, the cost of each pencil is |
" $1.75. If a customer purchases 10 or mare pencils, the cost of each pencil is $1.25.

Let ¢ be a fimction for which ¢ (x) is the cost of purchasing x pencils, where x is a whole number.

5k, if0=x49 Create » graph of ¢ on the axes below.
{} 1.25x, if x 210

¥
204
1
18
17.
16
15

44
i

Costin Dollars
ol ey, o0
gy

i % L3 B T O wE MDD

¥
2845678 510111213141818
Pencils

S

A customer brings 8 pencils to the cashier. The cashier suggests that the total cost fo purchase
10 pencils would be less expensive. State whether the cashier is correct or incorrect, Justify your
HISWEL.

Caitlin has a movie rental card worth $175. After she rents the first movie, the card’s value is
$172.25. After she rents the second movie, its value is $169.50. After she rents the third movie,
the card is worth $166.75.

Assuming the pattern continues, write an equation to define A(n), the amount of money on the
rental card after n rentals.

Caitlin rents a movie every Friday night. How many weeks in a row can she afford to rent a movie,
using her rental card only? Explain how you arrived at your answer.



Algebra 1 Name
Graded Review #19
~Cagtor/Palmer/Pastore Date
Early grading on Wednesday. All papers due on Friday SCORE: 120

LATE PAPERS WILL NOT BE ACCEPTED!!

FINAL SCORE:

Multiple Choice — 2 points per question (Show all work for full credit)

1. Which ordered pair is nof in the solution set of ¥ > — %:HS andy < 3x—27

1 6,3 @) 4,3 (3) 3.4 #) 4,4

2. ¥k =am + 3mx, the value of m in terms of @, k, and x can be
expressed as

k k—am
) a+3x @ =

3. When 82 + 3¢ + 2is subb‘acted from 92 — 8x — 4, the result is
1) 2-2 3) —x2+6x+6
@) 172 -2 (4) 22 —6x— 6

4, If the roots of a quadratic equation are —2 and 3, the equation can
be written as

1) x—=2¥x+3)=0 @) @+2)x+3=0
2 +2)x—-3)=0 4) x—2x—3)=0

S. If the area of a rectangle is represented by 2® + 8x + 15 and its
length is represented by x + 5, which expression represents the
width of the rectangle?

nx+3 3y x2+6x+5
(2) x—3 (4) 2+ Tx + 10

120



Short Answer — Spoints per question (Show all work and circle final answer for full credit).

6. Conve_rt the equation y = %2 — 6x + 11 from standard form to vertex form.

b.) State the vertex and how you arrived to your answer.

~

Graph and label the function ¥ = |z] and ¥ = |2x] on the set of axes below.

a) Include a table of values for both functions.

b) Explain how increasing the coefficient of x
affects the graph of ¥ = |x|.




1
B

Algebra Name
Graded Review #20
“Sastor/Palmer/Pastore Date
Early grading on Wednesday. All papers due on Friday SCORE: /20
LATE PAPERS WILL NOT BE ACCEPTED!!
FINAL SCORE:_____ /20
Multiple Choice — 2 points per question (Show all work for full credit) '
1. What is one point that lies in the solution set of the system of
inequalities graphed below?
! 2. Which equation has the same solution asa? — 6x — 12 = 0P
Vaurgadr s 1) +3)2=91 @) +32=3
\auyaas @ - 32=21 @ @-32=3
\‘ P g - : . l
VS
o IA ]
SRINCRDISCR
RSN P K
EARNNNRNN N YNe
2% b NN A X XA
RAAMNAAY SR
N N NIXIX
NMANNNANN Vo
s S \ X
NAMN ]
NNA RN N
) ao 3 O7
@ 30 @ (-3 ’

3. The box-and-whisker plot below represents the math test scores of

20 students.
—__ 1T H— |
ettt - 4 Thezemsafthefuncﬁonﬂx)=(x+2}2~25am
® % w0 (1) —2and 5 (3) —5and 2
What percentage of the test scores arve less than 72P " (2) —B3and7 (4) —7and 3
(1) 25 3 -
(2) 80 {4) 100

5. Sandy and Taylor went to Sliders Snack Shop at the baseball stadium during the playoff game. Sandy bought

4 sandwiches and 3 drinks for a total of $25.80. Taylor bought 2 sandwiches and 4 drinks for a total of $17.90. If

ﬂo\sales tax was charged, what is a system of equations that can be used to determine the cost of a sandwich (x)
- dadrink (y)?

) 4x + 3y =17.90 (3) 4x + 3y =25.80
x+4y=2580 ' 2x+4y=17.90
(2) 4x + 4y =25.80 4) x +y=14.00

2x + 3y =17.90 6x + 7y =53.70



Short Answer — 5points per question (Show all work and circle final answer for full credit). |

6. What is the result when (x + 3)? is subtracted from 2x2 + 3?

7.  Solve the inequality below to determine and state the smallest possible value forx in the solution set.
| B(x + 8)< 5x — 3

I
v
N



Algebra 1 Name
Graded Review #21
/A(‘\astor/PalmerfPastore Date
Early grading on Wednesday. All papers due on Friday SCORE: /20

LATE PAPERS WILL NOT BE ACCEPTED!!

FINAL SCORE: /20
Multiple Choice — 2 points per question (Show all work for full credit)

1. The distance a free falling object has traveled can be'modeled by the
equation d- = —g,"-atz, where 4 is acceleration due to gravity and #is
the smount of time the object has fallen: What is ¢ in terms ofaand d?

= [da _ [da)?
we- & @ ¢ = (&)
@ ¢= 2 @y o= (22
2, Jack bougbt 3 slices of cheese pizza and 4 slices of mushroom pizza

for a total cost of $12.50. Grace bought 3 slices of cheese pizza and
2 slices of mushroom pizza for a total cost of $8.50, What is the cost

of one glice of mushroom pizza?
(1) $1L.50 - (3) $3.00
(2) $2.00 : (4) $350

/

3. What is the slope of the line that passes through the points (-6,1)

and (4,~4)?
(1) -2 (3) ~3
@2 @+
4. Isainh collects data from two different companies, each with four 5. . .
employees. The results of the study; based.on each worker's-age and The seatter plot shown below ropresents relationship between
salary, are listed in the tables below: xand g.
Company 1 Company 2 /
Worker's Salary Worker's Salary
Agein in Age In in
Years Dollars Years Dollars
25 30000 | | 25 29,000
27 32,000 28 85,500
28 35,000 29 | 87,000
33 38,000 31 65,000
Which staternent is true about: these data? -
(1) The metdian salaries in both companties are greater than:$37,000;
) (2) The mean salary in company s greater than the mean salary in This type of mlaﬁnnship is
company 2. (1) a positive corvelation {3} azero corralation

{3) The salary range in company 2 is greater than the salary range in
coumpany 1.

(4) The mean age of workers at company 1 s greater than the mean
age of workers at company 2.

{2) ‘a negative correlation {4) not.able to be determined



Ay

Short Answer — 5 points per question (Show all work and circle final answer for full credit).

What is the product of 3x + 2 and 2x2 + 3x — 2?

) Robin collected data on the number of hours she watched television on Sunday through Thursday

nights for a period of 3 weeks. The data are shown in the table below.

Sun Mon: Tues Wed | Thurs
Week 1 4 3 35 2 2
Week2| 45 5 2.5 3 1.5
Week 3 4 3 1 1.5 2.5

Using an appropriate scale on the number line below, construct a box plot for the 15 values.




